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QUESTION 1

Your SAN team must transmit FC between multiple locations in a data center. To keep the cost of the project to a
minimum, your management decides that using FCoE would be the most cost-effective approach.

In this scenario, which architecture will support FCoE losslessly?
A. Layer 3 Clos

B. Virtual Chassis

C. Virtual Chassis Fabric

D. VXLAN overlay

Correct Answer: C

QUESTION 2

You are creating a design proposal and deciding whether to use 10 GbE copper or 10GbE fiber cabling to connect your
ToR switches to the servers.

Which statement is correct regarding this scenario?

A. Fiber has a lower power consumption on a per-port basis.

B. Copper cabling requires special transceivers for different speeds.

C. Fiber is much cheaper to purchase but has a higher long-term cost.
D. Copper will allow you to reach the greatest distance between devices.

Correct Answer: A

QUESTION 3

Which two characteristics describe the deployment of high-density chassis switches in a data center? (Choose two.)
A. In EoR deployments, the switches are consolidated in one location.

B. The switches consume a great deal of power, cooling, and space.

C. In ToR deployments, the switches provide more port connections, but with lower speeds.

D. More switches are often needed to accommodate the number of server connections.

Correct Answer: BD

QUESTION 4
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You are re-designing a traditional multitiered data center into a modern spine-and-leaf data center architecture. In this
scenario, which two tiers are collapsed? (Choose two.)

A. distribution
B. WAN

C. access

D. core

Correct Answer: AD

QUESTION 5

Your company is deploying a private cloud based on OpenStack and has selected Contrail Networking as its SDN
controller. Which two statements are true in this scenario? (Choose two.)

A. Underlay tunnels are established between virtualized and bare-metal servers.
B. MPLS over UDP tunnels are supported.

C. Overlay tunnels are established between virtualized and bare-metal servers.
D. MPLS over GRE tunnels are supported.

Correct Answer: CD
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